
6.1 Formulas and Problem Solving  Algebra 2        THOMPSON 

1)      -5,5 because (-5)2 = 25 and (5)2 = 25 

 

2)           −
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3) 

 

   distance = rate ∙ time  rate is 2000 mph 

    d = rt    distance is 29,000 miles 

      29,000 = 2000t  divide by 2000 

        t = 14.5 hours 

4)  

  

   distance = rate ∙ time  r = rate is 5000 mph 

    d = rt    d = distance is 25,000 miles 

      25,000 = 5000t  divide by 5000 

        t = 5 hours 

5)  

 

   P = 2l + 2w   p = perimeter is 330 feet 

   330 = 2l + 2(
2

3
𝒍)  w = width is 

2

3
𝒍 

    330 = 2l + 
4

3
l   2+ 

4

3
 = 

10

3
  

    330 =  
10

3
l    divide by 

10

3
  

     l    = 99 feet 

    w = 
2

3
l    ➜ 

2

3
(99) = 66 feet 

 



6)  

 

    P = 2l + 2w   p = perimeter is 260 feet 

   260 = 2l + 2(
2

3
𝒍)  w = width is 

2

3
𝒍 

    260 = 2l + 
4

3
l   2+ 

4

3
 = 

10

3
  

    260 =  
10

3
l    divide by 

10

3
  

     l    = 78 feet 

    w = 
2

3
l    ➜ 

2

3
(78) = 52 feet 

 

7) 

 

           miles per hour 

    distance = rate ∙ time  r = rate is 56 mph 

    d = rt    t = time is 3
1

2
 hours 

           d = 56(3
1

2
)  divide by  3

1

2
 hours 

               d = 196 miles 

 

8) 

 

           miles per hour 

    distance = rate ∙ time  r = rate is 54 mph 

    d = rt    t = time is 2
1

2
 hours 

           d = 54(2
1

2
)  divide by  2

1

2
 hours 

               d = 135 miles 



b1 

b2 

h 

b1            

b2 

h 

9)                          

 

 

  A = 
𝟏

𝟐
𝐡(𝐛𝟏 + 𝐛𝟐) 

  A = 
1

2
(70)(40 + 160) 

  A = 7000 ➜ bags are 4000 (divide) 

A = 
7000

4000
 = 1.75 rounds up to 2 bags    **ALWAYS ROUND UP 

 

 

 

 

10)                          

 

 

  A = 
𝟏

𝟐
𝐡(𝐛𝟏 + 𝐛𝟐) 

  A = 
1

2
(40)(70 + 130) 

  A = 7000 ➜ bags are 2000 (divide) 

A = 
7000

2000
 = 3.2 rounds up to 4 bags  **ALWAYS ROUND UP 

 

 

 

 

 



11)                          

 

 

  A = 
𝟏

𝟐
𝐡(𝐛𝟏 + 𝐛𝟐) 

  A = 
1

2
(60)(30 + 170) 

  A = 6000 ➜ bags are 6000 (divide) 

A = 
6000

6000
 = 1 bag 

 

 

 

 

12) 

 

             kilometers per hour 

    distance = rate ∙ time  r = 549 kph 

    d = rt    d =42.2 km 

           42.2 = 549t  divide by  549 

    𝑡 =
42.2

549
= 𝒆𝒏𝒕𝒆𝒓 𝑡ℎ𝑒𝑛 𝑝𝑟𝑒𝑠𝑠 x 60 

    multiply by 60 to get minutes  t = 4.612 min 

 

 

 

 

 

b1 

b2 

h 



13)  

 

             kilometers per hour 

    distance = rate ∙ time  r = 552 kph 

    d = rt    d =42.2 km 

           42.2 = 552t  divide by  552 

          𝑡 =
42.2

549
= 𝒆𝒏𝒕𝒆𝒓 𝑡ℎ𝑒𝑛 𝑝𝑟𝑒𝑠𝑠 x 60 

    multiply by 60 to get minutes      t= 4.59 min 

 

14) 

 

   distance = rate ∙ time  r = 70 mph 

    d = rt    d =630 m 

           630 = 70t  t= 9 hours   

   

 

 

 

15) 

 

   distance = rate ∙ time  r = 70 mph 

    d = rt    d =560 m 

           560 = 70t  t= 8 hours 

 

 


